PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

1st August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

‘Playing It My Way’ is the autobiography of ./ '@'{'T SCHIY a _ﬁ STHBYT B
® Sachin Tendulkar / TR AP
e Sania Mirza / T~ st
® Saina Nehwal / TSI '—‘riram
® Mary Kom / a ®ry

Correct Answer :-Sachin Tendulkar / TR dga®

2)
Question Stimulus :-

The capitals of the cholas was /Eﬁ?ﬁ Pt IS A
® Pataliputra / tl'l??ﬁ'gﬁ
* Ujjain / IS
® Tanjore /?‘IﬁﬁT
® Varansi/ IRTURTT

Correct Answer :-Tanjore / -1

3)
Question Stimulus :-

Who founded the famous Mughal dynasty in India? / fPaa yRa A m Wmﬁ TITUAT HI?

® Babar / dTdR

® Humayun / §UTY

® Akbar / 3hd?

()



* None of them / 3TH I HIS a1
Correct Answer :-Babar / dTdX
4)

Question Stimulus :-

Which Mughal emperor built the Nishan Garden in Srinagar? / MR A A= EITﬁiT, o HITE TSI GIRT
AT T YT1?

Shah Alam / RMT§ 3T¢TH
Jehangir /GIG'H“Q
Aurangzeb / T

® Humayun / E'FI'Ri

Correct Answer :-Jehangir / STgITIR

5)
Question Stimulus :-

Who was known as ‘The Lion of Punjab’ / “USTTd T QY DI WI% e?
® Bipin Chandra pal / fafts @5 @
® Maulana Azad /Iﬁ?ﬂ_'ﬂ 3Tollq
® Lala Rajpat Rai / ¢ITdT ¢Ioldd XA
® Lala Hardayal / <ITcIT gRQUTAd

Correct Answer :-Lala Rajpat Rai / eIl STolUd I

6)
Question Stimulus :-

Which one of these is not a tributary of Ganga? / E:I'el q oI I 7 B TeMA® I 6l %?

® Yamuna / Y-l
® Ramganga / XTI
® Kosi /Pl

e Ravi/3Q
(3)



Correct Answer :-Ravi/3fd

7)
Question Stimulus :-

Which of the following is the largest of the western group of temples in the Khajuraho complex? / fada CaE|

1 iR TeRTe! & wfeRl & myTe 99E A gad 991 37
® Parsvanatha Temple / 'QT%FIT Y 'Flﬁ?
® Kandariya Mahadeva Temple / $olvar ggTed Hie
® Chaturbhuja Temple / IgYS HfeR
® Brahma Temple / ST&T TI'ET

Correct Answer :-Kandariya Mahadeva Temple / ¢G0T HgTed HIGT

8)
Question Stimulus :-

Jain Temples on Hill No. 1 to No. 58 is located in ST TR tl%'l_éﬁ 1958 ¥ R« %I

® Khajuraho / Wlﬁ'
® Khargone / LGINIE]

* Kundalpur / PSAYR
® Bhanpura / HT-TYRT

Correct Answer :-Kundalpur / $SAYR

9)
Question Stimulus :-

India is the largest country in the world by area and ranks in population. /HIRd aif Cg GIIQQ il

P qed TSI R AR VAT A URA &1 I 8
e Seventh, Third / Tddl, TIRT
® Third, Second / ?ﬁw, UL
® Third, Third / THIRT, FHERT

® Seventh, Second / JTddi, QoI

(4)



Correct Answer :-Seventh, Second / JTadl, gRT

10)

Question Stimulus :-

Who is the CEO of Tata industries? / TeT S8 & A5 B4 82
® Jamshedji Tata / STHRIGSIT eTeT
e JRD Tata / W 3R & €T
® Ratan Tata / Id+ CICl
® Cyrus Mistry / 9O et
Correct Answer :-Cyrus Mistry / 9199 ARt
11)

Question Stimulus :-

The nationalisation of the 14 major commercial banks took place in ./ 14 mmﬁm 3ol @1 ?T@TFF\"UT
o gaf

* 1947
®* 1956
* 1969
®* 1980

Correct Answer :-1969

12)
Question Stimulus :-

Who is also known as the “Father of Indian Cinema”? / fpg®! “HRdTY RAH1 & 96" & A0 A o} ST
ST 82

® Raj Kapoor / IS dYX
* Amitabh Bachchan / 3R@TH =9

e Dadasaheb Phalke / GTGTITRd WBTedh
® Manoj Kumar / IF-ﬁW@TI'N

(%)



Correct Answer :-Dadasaheb Phalke / GIGTHTed BTeh

13)

Question Stimulus :-

Mention the two states situated to the south of Madhya Pradesh? / H&] U= & gfeur § fRU g 7=l &1 I
B2

® Chhattisgarh and Orissa / m 3R m

® Rajasthan and Uttar Pradesh / TSI 3R TR YT

® Maharashtra and Andhra Pradesh / ﬂ?’RTg Gﬁ? GJT‘HEI%QT

® Chhattisgarh and Jharkhand / @?ﬂﬂ'ﬂa 3R FIRGES
Correct Answer :-Maharashtra and Andhra Pradesh / HERTY 3R 378 USRT
14)

Question Stimulus :-

What is the game reserve of the Maharaja of Rewa converted into now? Eicik:g HBIRTSIT BT BT T ﬁﬂ_cf
uf¥afda foear war g2

® Bandipur Sanctuary / El'l'cﬂ'g?' SIHYRUY

® Mahadev Sanctuary / HEIed AHIARTY

* Bandhavgarh Sanctuary / STHAE SHIRTY
® Panna Reserve / TAT f¥ord

Correct Answer :-Bandhavgarh Sanctuary / STYETE AHUITRTY

15)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

gihe, st ab @1 e} ¥ TR R e sy & 9= 2 -
If it is hot, then we buy an air-conditioner. / qﬁ Tl'ﬁf%, ?ﬁ?‘q Tdh w—ﬁwaﬂaﬁ %'I

e Ifitis not hot, then we don’t buy an air-conditioner. /Hﬁ‘ﬁﬁﬂﬁ %, a’rsnw-ﬁw
T8 T ded g1

e If we don’t buy an air-conditioner, then it is not hot. / af¢ H ToR-HS IR 7¢I Wi §,
CIKIETE R

(6)



e Ifitis cold, then we buy an air-conditioner. /Hﬁ{b;_e’%, ?ﬁiﬂ?@@?—ﬁﬂ@'ﬂﬂ%%l
e If we buy an air-conditioner, then it is hot. /Hﬁﬁ@@?—mﬂmﬁ T-ﬁTI'Fﬁ%I
Correct Answer :-If we don’t buy an air-conditioner, then it is not hot. /?II%EN-TW-
SR T8l Wtqd ¢, df Y T ¢
16)
Question Stimulus :-

Who is the Commander-in-Chief of the Indian Air Force? / R arg AT & HHISI-FA-0 DI &2
® Chief of the Air Staff/ HTRA I aTGAT BT UHH STUBRY
® Air Chief Marshall/ T TR qr=id

® The President/ ?qu{%f

® The Prime Minister/ UHTH EFil
Correct Answer :-The President/ ITYUfd
17)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁ?
<t 3T U Su=Y ud el & 9k & 98 2

Statements: / YH:

All buckets are plastic / I 9] Wife® &
Some buckets are rubber / $9 Tl I/ T
Conclusions: / e

I. Some plastic are rubber / $9 wWie® o 3

II. Some rubber are plastic / $9 IR WD %
® Only conclusion | follows / Fad ey 1 Meadr %
® Only conclusion Il follows /Wﬁ'ﬁ)"f ECZSGI %
® Both conclusion land Il follows/ﬁwﬁf I Gﬁ? II ?ﬁ:ﬁ IGEZSG %

® None of the conclusion | or Il follows / forepd 197 11 ® '\ﬁ Elﬁ'sf T'Iﬁ' IGEASGI %
Correct Answer :-Both conclusion l and Il follows/ﬁ'l'm?é I 3R II Eﬁ:ﬁ' IGEENG %
(7)



18)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg oo
g ias st IR R s F U= 3 :

If you are sweating, then you need fan / 3R STUeh T TRIT 3T T&T %, al STUHT U P oed %

e If you don’'t need fan, then you are not sweating / 3ITR STUPH! Ud Bl S Tal %, ar
ATUHT RIS T 37 32T B

e If you need fan, then you are sweating / 3R 3TUH! UQ &I SR=Td §, a1 SMIPH! THHAT 311
@ E

e If you are not sweating, then you don’t need fan / 3RTR 3TU®H! YT A6l 3T |1, @l
TUHY T B! S&d Tl &

e None of the above / SWRIGT HIs gl

Correct Answer :-If you don’t need fan, then you are not sweating / 3l 3TUH! T Bl
S T8l 8, o Syt gt E) o weT @

19)
Question Stimulus :-

National AIDS Research Institute is located at ./ Tl'gTq TS Y 9 _ﬁ @ 31
® Chennai/ ﬁaé

® Pune/ Tﬁ
® Hyderabad / %ETITSI'IE"

® Bengaluru/ W

Correct Answer :-Pune / 01

20)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / T8I & Hadral o
Rumaa uew I I TaK ¥ 1 99 &1 uRkags anta ufd fFal 200 FUT 7 3R I@! Fivs TR | WIE FE
muﬁm 100 ¥UT g1 3ft HSRur & 100 fFaium 99 €1 eI F HAard 3T 3 Bt AT

I

(8)



If the demand for apple in the next month is perceived to be 500 kg, how much apples

should City Fruit order? / afe 3nTal A1 & A9 &1 HFT 500 fHal g Gbal g, df ST & weaarel Bl
fraa 99 HaE =lRe?

e 500 kg / 500 fpat
* 400 kg / 400fpar
e 200 kg / 200fFal
e 100 kg /100 fFar

Correct Answer :-400 kg / 40ofopat

21)
Question Stimulus :-

Which of the following mountaineers from Madhya Pradesh has scaled the Mount Everest in

2016? / fFufafea & ¥ #19 tdarig 79 WS T 2016 A AEE TR & AR W ugan?
® Bhagwan Singh Kushwah / H3TdIH i PRAIe
® Amitesh Srivastava / Sifrawr dtardg
® Manish Keer / Y B
® Pragati Dubey / I gﬁ
Correct Answer :-Bhagwan Singh Kushwah / H3aT< fRig $Rmarg

22)
Question Stimulus :-

Who was the first Indian Chief of Army Staff of the Indian Army? / YR T & ST T %ue?r ’J-lﬂ_cﬂ'qm
DR

® KSThimayya /% T T

® KM Cariappa / & TH SigwT

® SHFJManekshaw / T TI TH S ATHHM
® Rajendrasinhiji Jadeja / ITA SISl TSIl

Correct Answer :-K M Cariappa / & TH ST

23)

©)



Question Stimulus :-

Identify the person who has served as Prime Minister of India? / 3@% YR & YUTH & T H Ja1 ﬁ%l
® Lal Krishna Advani / CITeTp 0T STSaruft
® Abul Kalam Azad / (¢ S cTH 3TSlTq
® Inder Kumar Gujral / $% PHR oIRT
® Sardar Vallabhbhai Patel / HX QIR deeiH 'J-I'I'scqéﬁ

Correct Answer :-inder Kumar Gujral / $% PHR eRTd

24)
Question Stimulus :-

Which Constitutional Amendment introduced the anti-defection provisions in the Constitution? / g waurfe

RITe J iU | qaaea faRidt u=r fear?
* 51° Amendment / 51 § HRNYT
o 52" Amendment /52 9 TRNYT
e 53" Amendment / 53 d GRNEA
o 54" Amendment / 54 d RN

Correct Answer :-52"9 Amendment /52 § TRNYT

25)
Question Stimulus :-

Following are the three positions of a cube. / ¥ @t a9 FRIfaai g TerR %'I

(10)



TOW RON

by _ md
JACK TOM
15t view 2nd view
ROX
NEAL MEL
3 vriew

What is the name on the bottom face of 3" view? / TR T & a9 & Bae W T ATH %?
* JIM
® JACK
® NEAL
® NONE
Correct Answer :-JACK
26)

Question Stimulus :-

If Sunil says, “Arun’s sister is my father’s only daughter.” What is the relationship between Sunil and Arun? /'Clﬁ '\ﬂ:ﬁﬁ

FEAT 8, "% DI T A a1 B1 sHarrdl 3t 81" e SR 397 & g Fn Y @2
® Theyare cousins /9 TR HTE &1
® They are real brothers /9 T HTS &1
® Sunil is Arun’s nephew / g 3%+ BT YeToIT 51
® Sunil is Arun’s sister / el 31 B 981 3|

Correct Answer :-They are real brothers / CE: D 'J-l'l'gf%‘l

27)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d% fda®ey gfg
it f3T T Sy wd fAehul & 9 & 9 2

(11)



Statements: / HY-:

All covers are envelopes / |4t 3axul e %
All cards are envelops / 4l t7® faws &
Conclusions: / fAsmd:

I. Some cards are covers / P9 UAD SHIARUT %

II. No card is cover / ®Ig i Uz® 3MTaRUT T8l @

® Only conclusion I follows / Had fAeed 1 fAeadr %

® Only conclusion Il follows /Wﬁwﬁ n freaan %

® Both conclusion l and Il follows/ﬁwﬂf I 3T II ?ﬁT'ﬁ' IGESG] %

® None of the conclusion | or Il follows / ﬁwﬁf IGTII® @r aﬁs‘ T'Iﬁ IGEASGI %
Correct Answer :-None of the conclusion | or Il follows / fdIarraa ﬁ'&f' Tl FFreedr %
28)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 Uy ¥, Ugd I Treal & 9 A TR A FIS Y9y 21 Y fawenl & | @yr ue g
ST TN T & T1Y I UPR &7 I gl

GRASS : GREEN : : SKY : ? / ¥i¥ : 8% :: 3I{THI :
® HIGH / &l
* STARS / dR
e BLUE / i
* CLOUDY / Y&l

Correct Answer :-BLUE / a1

29)
Question Stimulus :-

What is the day on 1st Sept 1997? / 1 RavR 1997 & &i9 a1 7 82

e Monday / THAR

(12)



* Tuesday / HIEAR

* Wednesday / gYdR

® Thursday / T¥dRR

Correct Answer :-Monday / JHdR

30)
Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / IBE) &Wﬁ o, 3mad, ai, g 3R
FyaYor e g, A1, HFHT 3R Irad 31 Tt & & $i g=ia g

Correct Answer :-1

31)
Question Stimulus :-

Find out the number of days from 15 Jan to 28t Jan of an year (both days inclusive) /4

B+ o T TE BT 15 TG F 28 TG $ o9 (GH1 i3 fHa H-d gU) fovem A €1

e 14 days / 14 feq
(13)



e 13 days / 13 e

e 12 days / 12 faA

« 15 days / 15f&T
Correct Answer :-14 days / 14 feq
32)

Question Stimulus :-

Manoj and Sachin are ranked seventh and eleventh respectively from the top in a class
of 31 students. What will be their respective ranks from the bottom in the class? / 31

BEN B TH BT | A9 3R I FUR A HHT: Td4a iR TR WM W) ¢ Hal # feR A HH:
ISP RITT T BIN?

e 20th & 24t / 20 T 3k 24 T
e 24th & 20t/ 24 T g 20 T
e 25th & 215t/ 25 T gk 21 T

e 26th & 22"/ 26 T 3k 22 T

Correct Answer :-25th & 215t/ 25 M 3fik 21 T

33)
Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I am hungry so mayonnaise was not spread on the bread. / Ife 98 Pl e fFar

AT g iR 39 R A T Siar @ af a1 d@f & Y@ I8 S a1 g3 eRifed gt st & o § gafee
A 'S U TN ) T4 AT

e True / Tg!

e False / Tdd

e Maybe / Bl THdr 8

e Irrelevant / T RIS
Correct Answer :-Maybe / g J&dl @
34)

(14)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea ﬂﬁ'l;f
Sl 3T T Y=l vd et & aR § 9 8

Statements: / YH:

Some parathas are roties. / 99 Wi ﬁ?ﬁ%l

No roties are buns. / ®Is Wi Afeaf ug 7 21
Conclusions: / frep:

I. All roties are parathas. / Tt Afear wis %'I

II. Not all roties are parathas. / 9 Jifeal wis =&} g1

® Only conclusion | follows / Fad ey 1 Reear %

® Only conclusion Il follows /WW GEZSGI %’

® Both conclusion | and Il follows / ﬁl’ﬁ?’ﬁf I Gﬁ'\" II aT'ﬁ frrped %

® None of the conclusion | or Il follows / gz d Tfﬁ's: H’apf IBEZSGIN %
Correct Answer :-Only conclusion Il follows / P ey 1 freear %
35)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Xl & ARG 3R FH 3 T §| yA® 3ieR I Geniebd fHar T 8| 98
e g o arde T 3 T & R TEmellt F w U H eRY &1 9l Bu a1 7|

EMIHTR

123456
e 1,2,3,4,5,6
e 4,1,6,2,3,5
e 5,1,6,4,3,2
e 6,3,52,4,1
Correct Answer :-4,1,6,2,3,5

36)

(15)



Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / % U4 ¥, $& i &
g 33 T 8, St |efl, Paa T D1 SisH, FHM § wafe TP e 21 favw aret @) g

e BD

e HK

e MP

* NQ
Correct Answer :-BD
37)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / I8 fda®e
ghe, st ad ot e I TR Ry Tt sy F IuE B

If Ram is an actor, then Sita is an actress. / 3R I TS AT 7, @ a1 v A= g1

e If Ram is an actor, then Sita is not an actress. /GITRQ'THQE?GFF’J-@?IT %, ?ﬁ?ﬁmt{?ﬁ
SR T8 81

e If Ram is not an actor, then Sita is not an actress. / 3SR IH TH Glﬁ-lﬁmﬂﬁ%, GIKIGI
TS A T8 81

e If Sita is not an actress, then Ram is not an actor. / W?ﬂﬂTW&lﬁ-ﬁﬁﬂﬁﬁ,ﬁm
TP AfUaT 781 8l

e If Sita is an actress, then Ram is an actor. /W?ﬁmwaﬁ\nﬁaﬂ %,?ﬁwqaarf\uﬁm %I

Correct Answer :-If Sita is not an actress, then Ram is not an actor. / w;ﬂmw

S 1€ ], oY I T SrfieiaT T8 B

38)
Question Stimulus :-

Find the word that represents the category of the following three words. / dg Req Id PIford
<t g A9 wrss) @t Ao @) gxifar 8

Sword, Gun, Pistol / @dR, U, fUxia
° Arms/?ﬂ'ﬂﬂ'
® (Constable /Eb_\‘%aﬁ

(16)



e Bullet/ Ml
® War /9%

Correct Answer :-Arms/ gRUR

39)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F MG
W F A1 33 € iR Aew F1 ok g@ e g d)

2. G is second to the left of C, who is to the immediate left of F. / C ¥ a1l 3R G gERI g, S F
¥ fapa a6 it ek @

3. A is third to the left of E / E & a1l 3R A T ORT &

4. B is between D&E / B, D IREF ST & g

Which of the following is true? / /g # 9 99 W19« 82
e Cis fourth to the left of B. / B & a1l 3R C T B
e Ais to the immediate right of G. / G %WWW 3R A%I
* D is second to the left of E. / E & SRl 3R I D g&_T g1
* Bis second to the right of G. / G %E."I’fﬂ'&ﬁ? B W%I
Correct Answer :-A is to the immediate right of G. / G %WWW 3R A gl
40)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTg 91 PI T g T-
1. A, B and C are in Indore and Bhopal. / A, B 3R C sﬁ?'@ Higre # g1
2. A, B and E are in Indore and Gwalior / A, B 3R E @?@Wﬁ%l
3. B, C and D are in Raipur and Bhopal. / B, C 3R D IJ0QR Td ¥iura o g1
4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W@Wﬁ?l

5. C,E and D are in Raipur and Jabalpur / C,E R D W@Wﬁ?l

Branch of which bank is not in Indore? / fog 4o aﬁwgﬁvﬁﬁ%v

(17)



Correct Answer :-D

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

The series given below contains a sequence of qlpl.'la'bets,.numbers and symbols. Ider!tify
the incorrect combination: / 1R &} 7§ saaT 1eRY Ud WS &7 SgHH WANT HRdl 8| Tad "aieH
LEELERT

(i) ND@Y7*SXS7A
(ii) ND@Y7*SX$7A
(iii) ND@Y7*SXS7A

(iv) ND@Y7*SXS7A

® i

* v
Correct Answer :-ii
2)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬂ &R gIdY adr H1 A aﬁﬁrq :

a_bac _ _cb_cb
® cdaa
® chaa

® aach

(18)



® acch
Correct Answer :-cbaa
3)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ?;[ta &R AP Sadl I Ryl Eﬁﬁlt{' .

Im_oo_mll_no_n_|I
® momnn
® nnmmo
® nimom

® nnmom
Correct Answer =nnmom
4)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 9 vy ¥, S@1 491 A TP UG TAd o] T UG I DA

0,2,3,6,9,18,27,54

® 18

e 54

* 6
Correct Answer :-0
5)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ i T IR wdii & ¥ 9 3 T a & St GHE S A1 P G 82

Scherrer, Cindy & Steve

(19)



Alder Creek Kayak
P.O. Box 968
Sandy, Oregon 97055

(503) 668-3121

(i) Scherrer, Cindy & Steve
Alder Creek Kayak

P.O. Box 968

Sandy, Oregon 97055

(503) 668-3121

(ii) Scherrer, Cindy & Steve
Alder Creek Kayak

P.O. Box 968

Sandy, Oregon 97055

(503) 668-3121

(iii) Scherrer, Cindy & Steve
Alder Creek Kayak

P.O. Box 968

Sandy, Oregon 97055

(503) 668-3121

(iv) Scherrer, Cindy & Steve
Alter Creek Kayak

P.O. Box 968

Sandy, Oregon 97055

(503) 668-3121

(20)



® i

° v
Correct Answer :-iv
6)
Question Stimulus :-

If AMITABH is coded as BNJUBCI then DHARMENDRA is coded as / gfd AMITABH &1
BNJUBCI ¥ $ifed {51 @iar & 9 DHARMENDRA 1 309 Sifed fhar s

® EIBSOGPESB

® EIBSNFOESB

e EIBTOGPEST

e EJBSNFOESB
Correct Answer :-EIBSNFOESB
7)
Question Stimulus :-

Complete the series choosing the missing number: / fAQW TWAT FADHR 9TAT BT GRT HIfoQ :

1,3,3,6,7,9,__ ,12,21
° 10
° 11
° 12
* 13
Correct Answer :-13
8)
Question Stimulus :-

Complete the series choosing the missing number: / fAgW TBAT DR SGaT B R BIFT :

2,3,6,11,18,

(21)



°* 23

° 20

° 27

® 29
Correct Answer :-27
9)

Question Stimulus :-

How many squares are there in the following figure? / % pfa # fdram aif 82

° 14
e 3
Correct Answer :-7
10)

Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for TOMATO? / Tf¢ ABCDEF BT zvxwvu I Sifed fdar siram

g, d TomaTo ¥ R Pl =T BI?

LGNLNG

NLGLGZ

ZGLNLG

GLNZGL

(22)



Correct Answer :-GLNZGL

11)

Question Stimulus :-

A buys a double bed for Rs. 2600 & sells it to B at gain of 15%. B sells it to C at gain of 10%. What does B
charge from C? / € 2600 mﬁwm%m%aﬁﬂs%%mﬂ{wﬁﬁmél at 10% @1 ggd I @

@ dgar g1 A A W F S99 33 o T w412
® Rs.4289 / ¥UT 4289
® Rs.3289/ ¥UT 3289
® Rs.2289/ FUU 2289
® Rs.1189 /YT 1189
Correct Answer :-Rs.3289 / 3=UUT 3289

12)

Question Stimulus :-

The sum of two numbers _is 20.and the difference is 5 What is the_ value c_)f the larger
number of the two? / &I TBT3M T TNT 20 g 3R ST 3R 5 g1 S A T T¢I T=AT BT A HT 82

® 125
® 15
° 12
* 10
Correct Answer :-12.5

13)

Question Stimulus :-

Two trains starts from P and Q respectively and travel towards each other at a speed of 50 km / hr and 40 km / hr
respectively. By the time they meet the first train has traveled 100 km more than the second. The distance between P and Q

is/ 1 3 SPHRT: P 3R Q I Y= Bl §T TP gax B 3N HHT: 50 fHfi/der 3k 40 fpdfider oY fa @ wadi €1
o q% 9 TP ga¥ A frelt, gl 77 3 gadt 29 @ 100 fheht s g q@we ft1 p iR Q F T FT gl 7|

® 900 km/ 900 fFHY
e 660 km/ 660 fopH

® 600 km/ 600 fFHY
(23)



® 820 km/ 820 fF#}
Correct Answer :-900 km/ 900 T}
14)

Question Stimulus :-

The sum of two numbers is 10 and thejr ratio is 2:3. What are the numbers? / ﬁﬂ'@ﬂéﬂ"aﬂ
WS 10 3R ITT U 2:3 § O 9 I FT1 32

* 6,4
e 55
e 8,2
e 9,1
Correct Answer :-6,4

15)
Question Stimulus :-

What is the average of all the numbers between 300 and 400 multiples of 16? / 16 % 300
3R 400 TEUN & o BT T el &1 shwd 7T 32

e 352
e 354
® 356
e 358
Correct Answer :-352

16)
Question Stimulus :-

Two trains 100 meters and 120 meters long are running in he same direction with speed
of 64 km / hr and 52 km/hr. In how much time will the first train crosses the second

train?/100 Wie 3R 120 Hex T & 3 64 fpfl/Her 3R 52 it/ ver #1 1l F ve & o= d =@ &
T g8 37 B UR FA | ugelt e B fraqr Iwg @

® 44 sec/ 44 @3’_&5’
® 55 sec/ 55 AHS

(24)



* 60 sec/ 60 b
* 66 sec/ 66 DS
Correct Answer :-66 sec/ 66 35S

17)

Question Stimulus :-

A can do a certain job in 16 days. B is 60% more efficient than A. How many days does ‘B’ alone take to do the same
job? / A Tt 1 &Y 16 &A1 & TRT B TPHa1 81 B, A A 60% SATGT YUl 1 B’ I HTH P AP A B
# fpem fo @ 82

® 6days/ 6 &=

e 8days/ 8 &=

e 10 days / 10 &=

e 12days / 1237
Correct Answer :-10 days / 10 &
18)

Question Stimulus :-

A and B appear for an interview for two positions in the same company. The probability of A's selection is 1/7 and B’s is 1/5.
What is the probability that only one of them is selected? /&I SEIGaRI T 3R &t & TH & Hu=it & gt Rfdaal & forg tar
HITPR 3d & | T ST HHGATT P 1/7 ¢ 3R 1/5 TP | FTHHIGAT 2 fob 37 b o199+ fpar simeam?

° 1/7

e 2/7

e 3/7

* 6/7
Correct Answer :-2/7
19)
Question Stimulus :-

In a code, VOICE .is cogled #*$@& and FACE.T is coded as ©e@&~. What does *#&@"e
represent? / % Tdd H, VOICE Pl #*$@& Td FACET 1 ©e@&~ forar Tum | *#&@~ « 70T WelRid
HUT?

e OVECTA
(25)



® VOTECA
® OCTAVE
e TOVECA
Correct Answer :-OVECTA

20)
Question Stimulus :-

If RITE, TIER and TIRE are coded as 1357 and STAR, RATS, I-_\RTS anc! TARS as 3467, how
is SATIRE coded as? / If¢ RITE, TIER Ud TIRE &I Hdd & U § 1357 Ud STAR, RATS, ARTS
Td TARS @1 3467 @, SATIRE &1 Idhd & 77 § $9 farai?

® 463157
e 643571
e 134567
e 765413
Correct Answer :-134567

21)
Question Stimulus :-

The LCM of 2a+6,+3a is / 2a+6,+3a BTLCM &
e 2a(a+3)
e 1
e 4a(a+3)
)
Correct Answer :-2a(a+3)

22)
Question Stimulus :-

Complete the following sequence of figures/ Gﬂiﬁﬁlﬁ’f & 9 79 & T PIfor:

(26)



A

Correct Answer :-

23)

Question Stimulus :-

> 11 > 11
24 ][3_—{5(45-1_?)]1 24 [3——{5(45—1—7)}]

Simplify: / Od Biog:

wa |

(27)



+e |

A

Correct Answer :-

24)

Question Stimulus :-

If the price of sugar rises from Rs. 18 to Rs. 20 per kg, a person, in order to have no increase in his expenditure on sugar, will

have to reduce his consumption by/'ClﬁWﬁﬁ'Fﬁ, 1smwﬁrmﬁwzomuﬁ%mﬁﬁm‘r% @
TP AT DI GDH B WU fha-it HH H-1 diigd, fh 3T IR T a1 Td G0 7?2

® 10%
* 12%
® 15%
® 20%
Correct Answer :-10%

25)

Question Stimulus :-

(828/4)x3-(8x(6/24)x10)+(105/35)-15=?
® 589
® 569
® 579
® 549
Correct Answer :-589
26)

(28)



Question Stimulus :-

A man sells a car to his friend at the loss of 10%. Who again sells it for Rs. 54000 making a profit of 20%.
What was the initial value of the car? / T® 3{TGHI 10% & JHHM TR 3T G b1 Th HR Sudl ¢ | 91 g
5 A 98 PR 20% & TATH & 1Y 54000 TUY F 99AT 8 | HR BT YRS T T Y12

® Rs.25000 / ¥UT 25000

® Rs.37500 / YT 37500

® Rs.50000 / YT 50000

® Rs.60000 / 3UT 60000
Correct Answer :-Rs.50000 / 3¥UT 50000
27)

Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / Ffauy &

fore @ fawen €| W&t aren 3T

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ BT AIAS & ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ PT AIAS & ‘Dogs and Horses’

ifli. '"Mut Tom Ko’ means ‘Donkeys are mad’ / *‘Mut Tom Ko’ &T Hddd % ‘Donkeys are mad’

Which of the following encryption is used for ‘are’? / 59 & ¥ ®19 91 T<puxH ‘are’ & U
T g1 82

® Tom

® Kun

® Sud

* Ko
Correct Answer :-Tom
28)

Question Stimulus :-

There are 520 inmates in an orphanage. Find the number of girls if they form 30% of the

boys. / T®H FUTAY H 520 GXIERI & dSfial &1 - J1d $3 ol TSH! B TBT B 30% ¢

(29)



® 156

120

e 40

e 400
Correct Answer :-120
29)

Question Stimulus :-

The population of a city is 2,02,800. If it increases at a constant rate of 4% per annum, then what was the population 2

years ago?/ U TG B BT 2,02,800 B | TfS T8 Ufa af 4% &Y 90 = A gl 8, o) 2 a9 uga S &1 i
e 1,87,000
* 1,89,000
* 1,87,500
* 1,88,000
Correct Answer :-1,87,500
30)

Question Stimulus :-

In how many ways can 4 books be selected out of 10 books? / 10 W T4 W fra @il § T Bt o
H@dl 62

® 420
® 105
® 210
® 315

Correct Answer :-210

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Combustion of a material occurs when 03 conditions are satisfied. Identify the 03 conditions from the given

(30)



options. / STd 03 3AXITY HT UTS Tl & a9 TP Uerd &1 g8+ giar1 31 iU 1 faweni & ¥ 37 03
SARITSMT BT U B

® Absence of water, absence of Carbon dioxide and the material reaching its ignition temperature. / SI¢I BT

3UTT, PTAT STISATFITSS BT UTT 3R 9 Yard ITF Usaa a9 & uga- ol

® Presence of combustible material, presence of oxygen and the material reaching its ignition temperature. /

gﬂawﬁﬁw@rﬁ Wﬁwﬁuﬁsﬁ?mmﬁmwmww
|

® Absence of water, absence of Carbon monoxide and the material reaching its ignition temperature. / SI¢1

BT 3HTT, HTIT HHISHTFIISS BT AU 3R 5 yerd ITF Usaa d1d % Uga ol

® Presence of combustible material, presence of nitrogen and the material reaching its ignition temperature.

%@%Wﬁﬁﬁ,@mﬁmﬁﬁwwﬁmwmw
|

Correct Answer :-Presence of combustible material, presence of oxygen and the material reaching its

ignition temperature. / Wﬂﬁ 'anQf G| W@ﬁ, STeRiTe &t SUfRITd 3R wid 'qa“f ITP Usgad
A9 9% Ugd @i |

2)
Question Stimulus :-

If the surface area of a cube is 1734 square meter, then its volume is . /'Clﬁi forddt w9 &1 qéh Z‘aﬁth_c[
1734 7 #Hiex B, 99 IHPT A &

2197 cubic meter / 2197 ¥ Hiex

4913 cubic meter / 4913 Y dew

2744 cubic meter / 2744 Y- dew
® 4096 cubic meter / 4096 U HIeX
Correct Answer :-4913 cubic meter / 4913 g HleX
3)
Question Stimulus :-

Which one of the following is not a secondary sexual character in male? AEL] ? 9 P9 W ® wor A
TEI0T TEY B2

® Growth of facial hair / %]3‘{ R gTadl T ET

® Voice becoming hoarse / 3{TdTSl &I YR g9 ST

(31)



® Hair growth on chest /@'I?ﬁ TR 9Tall BT ST

® Increasing height /ﬂ'l:a'l_ﬁF qe-l
Correct Answer :-Increasing height / GT¥Ts ST
a)
Question Stimulus :-

The most common type of silk is / I T SR HT I=H %
* Mulberry silk / XTqd Y
® Tassarsilk / TR W
® Moogasilk / Tﬂm
® Mothsilk / HIY ¥
Correct Answer :-Moth silk / HTY IZH
5)

Question Stimulus :-

Substance obtained from Coal tar used to repel moths & insects is / PIadR 9§ Ut verd i /@y Tqd Cakcal
W= o v far srar @

* Paraffin wax / TRIT%p=T HIH

e Naphthalene balls / AT B Mferar
* Bitumen /fagd=

® Coal Gas/ CAUGIE ]

Correct Answer :-Naphthalene balls / FUJdF &1 Mferat

6)
Question Stimulus :-

The perimeter of a circle with radius 35 cm is ./ TP dd @t 5T 35 \ﬁ'liﬂ %l 3BT UHTT

e 220cm /220 JHt

® 110 cm /110 JHT

(32)



® 3850 cm /3850 THI
® 440 cm / 440 JHY

Correct Answer :-220 cm/ 220 9HI

7)
Question Stimulus :-

Which other function is served by sweat other than removal of water and salt? / Uit 3R THE B
FreTem & sifafvad o9 w1 o=a wrd weita g7 fYpar wiram 32

e It helps to cool the body /& RR Ht ST I H HETIAT HdT gl

e It kills the bacteria on the skin /3 @1 & Sitamu[si & IR 3|

e It regulates the body temperature /3 YRR & dTUATT F FafHa owar 31
e All the above / SWRiga a4t

Correct Answer :-All the above / SWRIaT T |

8)

Question Stimulus :-

The value of (-1/4)™3 x (-1/4) 2 is equal to / (-1/4)3 x (-1/4)"2 H19H
F W ¢l
* -1024
* -1026
* _1042
* -1062

Correct Answer :--1024

9)

Question Stimulus :-

If the area of a circle is 20 cm?, the area of each of its quadrants is / afe foeedt qdd &l &amd 20 THI2
g, a1 39 agaizn &1 &wd gl
* 4m?2/ 4 %2

(33)



e 8 m2/ 8 Hiex?2
e 5m2/ 5 He2
* 10 m2 / 10 Hex2
Correct Answer :-5 m2 / 5 Hie32
10)
Question Stimulus :-
The unit’s digit of the number 358 is / =T 3°8 @t S'Tﬂ'g BT 3P %
e 1
e 3
e 7
e 9
Correct Answer :-9

11)

Question Stimulus :-

Iron cans used to preserve food items are coated with tin because / ?ﬁ% & fe=d oI @ Tcg‘T't’-f Al mﬁ EECE|
# yge gra € 9 o g7 At Y8d € e

® tin is more reactive than iron / f& @7 & warer fepamsita gidl @
® tin s less reactive than iron / &1 @7 ¥ &4 frar<ia gt @
® tin is cheaper than iron / fe=T g & Ol g<it @
® tinis easily available / f&=T STt & Iuaisyl Bt
Correct Answer :-tin is less reactive than iron / feT @ig & &9 fipariia sidt 8

12)
Question Stimulus :-

The cause of water shortage / STd I HH BT PRI % -
® Rapid growth of industries / I &1 ggd aeit 9 dJe-l

® |ncreasing population / aﬂ?ﬁ ST
(34)



® Mismanagement of water resources / SI¢l 1Y BT W%F-l

® All of the above / Bﬂ'{hﬁ T
Correct Answer :-All of the above / ST Tt
13)

Question Stimulus :-
A vertical pole of length 6 m casts a shadow 4 m long on the ground and at the same time
a tower casts a shadow 28 m long. Find the height of the tower. / T® dR&T W™ et
TS 6 T 8, W T W 4 Hiex F) o1 991 8 9 I W W TP HAR 28 Hiex awlt orr 99161 8 df
R F SIS F9 PR

e 21m /21 He®

e 28m/28HIcx

* 16m/16HIeX

e 42m/nWXR
Correct Answer :-42 m / 42 Hiex
14)
Question Stimulus :-

Following questions are based on the table given below. The mention numbers in data (candidates) below are in

%housands./ﬁymﬁzﬁn%m%anmw%l Iiwpsl § IwRad &I ( IFEaR ) okl |
I

(35)



Year /T 2001 2002 2003 2004 2005 2006

science / faTe 16 20 25 15 14 16
Arts [/ el A 3 g 10 11 13
Commerce f

aTToTe 8 12 12 11 15 13
Law / el 7 g 5 3 6 g

Computer Science

/B EEC 10 14 18 20 25 30
Others / 3 1 1 2 1 1 1
Total / Fef a6 64 71 60 72 a1

Which discipline has shown the greatest rate of increase in its selection from 2004 to 2006? / P19 ¥ favg 3 2004

¥ 2006 TF U T | g R I o7 fe@mar 82
* Arts / Bl
* Computer Science / PR fagm
* Law/PTH
* Commerce / AU
Correct Answer :-Law / DI
15)

Question Stimulus :-

Following questions are based on the table given below. The mention numbers in data (candidates) below are in

%housands./ﬁawﬁaném%mmwél Iipsl H IeaRad T=T ( SHfiear ) soRl &
|

(36)



Year /T 2001 2002 2003 2004 2005 2006

science / faTe 16 20 25 15 14 16
Arts [/ el A 3 g 10 11 13
Commerce f

aTToTe 8 12 12 11 15 13
Law / el 7 g 5 3 6 g

Computer Science

/B EEC 10 14 18 20 25 30
Others / 3 1 1 2 1 1 1
Total / Fef a6 64 71 60 72 a1

For which discipline the total recruitment for all the 6 years is closest to the total recruitment for any year? / ?ﬁ? ﬁ

fara & fow 6 Tra Ft Fa Wl feet o of F o wdf & Tad FHa 82
® Arts /[ Dcll
* Computer Science / X fagm
* Law /B
* Commerce / ATIOIGY
Correct Answer :-Commerce / ATTOTeT
16)
Question Stimulus :-

Evaluate 2 sin? 30° — 3 cos? 45° + tan2 60° / 2 sin2 30° - 3 cos? 45° + tan2 60° &1 ™iDh
DY

e 1
e 0
e 3

Correct Answer :-2

(37)



17)

Question Stimulus :-

81x* —2561% , 81x* —2561°

/ < B UGS BIfoTg

Factorise

(9x +1637 J3x+42)(3x—42)

"2

(07 +1637]

(3x— 42

(0x* —1637)

9' +16‘ | ’—|—_1.v - _],
Correct Answer :- (o 2 J3x+4)(3x—4p)

18)
Question Stimulus :-

While plotting a Distance -Time graph, the way two variables are represented is / TP fo - P BT SATea
FXA P GRM, & W BT 39 THR U0 g1 5

® Distance on X axis and Time on Y axis / X 3{& IR §'\ﬁ Td Y 3 IR IJHg

® Time on X axis and Distance on Y axis / X 3& IR JHY EET Y 3f& U g‘ﬂ

® Neither / fﬁ-ﬁ T-I'fﬁ

® Either Aor B / A 3Ydi B
Correct Answer :-Time on X axis and Distance on Y axis / X & U3 JHI TF Y & T @
19)

Question Stimulus :-

Following questions are based on the table given below. The mention numbers in data (candidates) below are in

%housands./ﬁamﬁzﬁném%anmw% 3ipsl A Iedfad G=T ( SHiiear ) gkl §
1

(38)



Year /T 2001 2002 2003 2004 2005 2006

science / faTe 16 20 25 15 14 16
Arts [/ el A 3 g 10 11 13
Commerce f

aTToTe 8 12 12 11 15 13
Law / el 7 g 5 3 6 g

Computer Science

/B EEC 10 14 18 20 25 30
Others / Hed 1 1 2 1 1 1
Total / Fef a6 64 71 60 72 a1

For which discipline there is no change between the candidates selected in 2001 and in 2006? / o s aga d

2001 # X 2006 # Taf1q IFfiGaRT & i BIS TaaTd Ta! M 82
® Commerce / ATIOTGY
* Science / faqIT=
o Law /P
® Arts /Dl
Correct Answer :-Science / TR
20)
Question Stimulus :-

Oxygen released during photosynthesis by plant is utilized by all other living organisms for / UhTRI AT aTFT

ol gRT IRl sifRiee o= sifaa shat g1 e & e wa it @
® Growth and development / 3 3R fawra
® Nutrition / TTTUT
® Breathing / J9
e Oxidation of food / WIS & SHTRITHRUT

Correct Answer :-Oxidation of food / HISTH & TRITHI0T
(39)



21)

Question Stimulus :-

Convex lenses are / 3dd g Eﬂ% %

® Thinner at both edge and in the middle / G f%-RI TR Td d # Udelt

® Thicker in the middle and at the edge / &9 # Td fHaRI W= T

® Thicker in the middle and thinner at the edge / a § A& Td fpRY uv Tareht

® Uniform through out / a7 Th JHH

Correct Answer :-Thicker in the middle and thinner at the edge / ¥ & HIdl Td fH-IRT W= gaet

22)

Question Stimulus :-

Following questions are based on the table given below. The mention numbers in data (candidates) below are in

Tpousands./ﬁamﬁ%aném%anmw%l 3iPpsl A IeafEd GBI ( IFIearR ) gkl |

gl
Year /T 2001 2002 2003 2004 2005 2006
science / T 16 20 25 15 14 16
Arts [ @hell 4 8 g 10 11 13
Commerce
aTfoTe 8 12 12 11 15 13
lLav-:/EFI?lff e g 5 3 6 8
CDmpUTEFSCiEﬂCE
/HEIE = 10 14 18 20 25 30
Others / HeT 1 1 2 1 1 1
Total / FeT a6 64 71 60 72 81

In which year for the first time, Computer Science discipline constituted more than 25% of the selected candidates? /

Teall 9 fora ara ¥, dger fage fawg & fow wafva swficart &1 25% 3 sifte o1 7o+ gam ur?

* 2001

(40)




* 2002
® 2003
® 2004
Correct Answer :-2004

23)

Question Stimulus :-

Kharif Crops are sown during / TRIP $I BId 39 SR ST STl @
® June to September / I I Raw@R
* September to October / Ryamar & Sfdgay
® October to December / 3fdgax ¥ feomr
® March to April / e 9 3

Correct Answer :-June to September / S ¥ @R

24)
Question Stimulus :-

Which of the following statements is NOT true about radiation of heat? / Fafafea sy A A P S F
fafsor & fowg & woy T @2

® It does not need a medium / FH AT P P13 ATIRIDHT -Tel §
® Sun’s heat reaches the Earth by radiation / & & ST gt & fafevor grT ugeed) @
® Sea and land breeze are caused by radiation of heat. / JHq% Td ’J;[ﬁf TR S F fafHror & R B §

® All hot bodies radiate heat / It mi e S fAela s %

Correct Answer :-Sea and land breeze are caused by radiation of heat. / Iqg Td ‘Hﬁ' THR ST &
faf~or & SR g &

25)
Question Stimulus :-

In a ratio which is equal to 3 : 4, if the antecedent is 12, then its consequent is: / T JUTd A S 3:4 & gHH %,

afg gdgw 12 B, 99 SHST 3gadl 8:
. 16

(41)



e 20

e 24

e 8
Correct Answer :-16
26)

Question Stimulus :-
A man sold two houses for Rs. 675960. On one he gains 15% while on the oth.er he loses
15%. How does he gain or lose in the whole transaction? / T®% 3eHY G| abf HHTI Bl 675960
FUhl B q9T1 TP WX I 15% ATH YT foran a8l gk R 15% & g1 I e & S fawn @y ar g1y
gal?

® 256%

® 225%

® 2.65%

® 2.75%
Correct Answer :-2.25%
27)
Question Stimulus :-

It is difficult to move a cycle along a road with its brakes on because / Th ﬂ'l'a‘ﬁﬂ ol gsdh U¥ SF TP
TAMT Hid § Fifp

* The brake pads stop the motion of the rim due to friction / Y01 & $RUI 3% U8 7 F} 7fd &1 A®
GOl

® The brake pads increase the motion of the rim due to friction / Tiur & SR 3P U A B 7fd H1
ST €

® The brake pads minimizes friction / 3% U gYU Bl FH FI A &
® The roads are bumpy & rough / IS® IdS-Wlas U4 =&l Bid %

Correct Answer :-The brake pads stop the motion of the rim due to friction / 74U & HRU 9P Us RA
AN P AH AT

28)
Question Stimulus :-

(42)



The loudness of sound produced by a vibrating body depends on the / T® TeARia axd ¥ Iaud §_S£ T
B yaadr 39 R AR ot @

e Ppitch / faT

® Quality / Turdr

* Frequency / SRRl

e Amplitude / A
Correct Answer :-Amplitude / 3TH
29)

Question Stimulus :-

Following questions are based on the table given below. The mention numbers in data (candidates) below are in

%housands./ﬁramﬁ%aﬁns‘mﬁmamnmw% 3ipsl ¥ IeaRad =T ( Sufiear ) goRl d
I

Year /TX 2001 2002 2003 2004 2005 2006
science / faareT 16 20 25 15 14 16
Arts [ @hell 4 8 g 10 11 13
Commerce f

aTforss 8 12 12 11 15 13
Law / Thlefel 7 g 5 3 6 8

Computer Science

/B CEIG! 10 14 18 20 25 30
Others f 1 1 2 1 1 1
Total / el a6 64 71 60 72 81

In which year the percentage of science discipline candidates was the highest? / oo gra 'el', ﬁiﬂ? fawg & ﬁ"'{
SafigaRl & ufa=a I Sarer U1?

* 2001
® 2002

* 2003

(43)



e 2004
Correct Answer :-2003
30)

Question Stimulus :-

The force acting on a unit area of a surface is called / ot Uy F U 's',_cb'lé A R PUPR] I HEACT § :
® Force / 99
® Pressure / qld
® Thrust / L'I'Uﬁ'q'
® Density / U9

Correct Answer :-Pressure / g9
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